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N.B.: 1. Question No 1 is compulsory Lt
2. Attempt any Three questions from the remaming five questlons

3. Assume any suitable data if necessary with _]ustlﬁcatmn
4. Figures to the right indicates max. marks St e

Q.1. Attempt any four of the following questions.

a) Draw the shear force and bending moment dlagram fﬂr a cantﬂever b S

 ' ,’:aned at each end I f ata temperature of 400C there is no

: 5 ‘ h's raised ta 240°C Take 10
.' | ZOSGPa ,
 gun metal = 91.5 GPa
. " tof f .f__"al éXpansmn of steel =11x 10°PC
Vi , ) ’_al expanswn of gun metal = 18 x 10 °/ C.
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b) (Draw the shear ferce and bendmg moment diagram for a simply supported beam as
“shov 11:1 the ﬂ' '?'f“re _-_i:i;f-*'; 10
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Q.3 a) The tension flange of a girder of I-section is 240 mm X 40 mm, whereas the compressmn

flange 120 mm X 20 mm. The web is 300 mm deep and 20 mm thmk If the gerer 15 used-- y

as simply supported beam of 8 m span, determine the lead per m run rf the i

1s 90 MPa in compression and 30 MPa in tension.

pull of 90 kN 10

Q35a) beam is Stlb_] ected to the loads as shown in the figure. Determine the
- maximum deﬂecnon mduced in the beam. Take value of EI = 1-2 x 10° N-m?. 10
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b) Draw shear stress variation diagram for a beam section shown in ﬁgure TakeSleOOKN

| y ,,ong 1s as shown find the total
strain energy of the rod when 1t IS subjected to a_- n of 1 50 -{-—f' Take E-200 X 10°

b) 'f'fm on to a collar i gldly connected to the lower end of the

10
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